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Q.P. Code: 20CE0163
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6 Determine the centroid of the area shown in Fig. with respect to the axis shown. L1

8
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7 Find the moment of inertia about the centroidal X-X and Y-Y axes of the angle Section L1 12M
Fig.
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ﬂ
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a A rectangular hole is made in a triangular section as shown in Fig.Determine the L2

moment of inertia of the section about X-X axis passing through its centre of

gravity and the base BC.
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b Find the moment of inertia of a hollow section shown in Fig. about an axis passing L1 6M
through its centre of gravity or parallel X-X axis.
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9 Aninclined truss loaded as shown in Fig. L4 12M

10 A king post truss of 8 m span is loaded as shown in Fig. Find the forces in each L4 12M
member of the truss and tabulate the results.
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